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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
UG NCCF FIRST SEMESTER EXAMINATIONS, 2023

GEOGRAPHY
COURSE: MDC-1

FUNDAMENTALS OF PHYSICAL GEOGRAPHY
PAPER CODE: GEO-MDC1
Time Allotted: 1 Hour 30 Minutes Full Marks: 35

The figures in the margin indicate full marks.

[ Instructions J

The candidate should indicate the correct Name, Registration No., Roll Number on the OMR Answer-Sheet
otherwise the Answer-Sheet will not be evaluated and the candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. Please do not overwrite or
erase because it will be treated as multiple/wrong answer.

Example: Correct Method: O@ QO Wrong Method: R d® @

Choose the correct alternative and mark in the OMR sheet provided 1x35 = 35

¥ Which one of the following is the most abundant element of the earth’s crust?
(A) Oxygen (B) Silica (C) Aluminium (D) Radon
R Sommetm T @M g-73 wéide [ ¢
(A) SRTE (B) fferat (C) St (D) @A
2 How does temperature vary from the surface to the centre of the earth?
(A) Increases (B) Decreases (C) Remains constant (D) None of these
G- (AF (@A e Freid sivwias Afaea 9 ¢
(A) MY (B) T (C) G AT (D) CPIAbR 7
: Pacific Ring of Fire is associated with of the following.
(A) Oil Well Fire (B) Thermal Power Station
(C) Forest Fire (D) Volcano and Earthquake
PSSR ST sl A MR &fT |
(A) (S F¢71 Wew (B) OIS (C) wRIE (D) SRR ¢ e
4. Which of the following is an example of the explosive type of volcano?
(A) Shield Volcano (B) Flood Basalt Volcano
(C) Caldera Volcano (D) Cinder Cone
fsfeifie W iers Reere scaahifra Sazad ¢
(A) s e (B) A6 GIOR Saaff@
(C) FpETCeal SteiaiE (D) Pror =g SR
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Quartzite is a type of rock.
(A) Metamorphic  (B) Sedimentary (C) Igneous (D) None of these
RIEIRE &1 @afo Ref
(A) FoirEfe (B) #ieTfere (C) B2y (D) (FIA168 78
Sandstone is an example of rock.
(A) Igneous (B) Sedimentary (C) Metamorphic (D) Non-Foliated Rock
(A 25 G0 Preim Brrzge
(A) S (B) #eiferas (C) Fiefae (D) SgifEe et
The depositional landform at river confluence is called ‘
(A) Delta ~ (B) Alluvial Fan (C) Oxbow Lake (D) Natural Levee
AR T NC G HEAFS Gfrite 90 |
(A) 3-89 (B) #feet #Arell ©)wFagfe e (D) FeiR 3y
Which of the following is not a metamorphic rock?
(A) Marble (B) Schiest (C) Sandstone (D) Quartzite
s @Rl weirekie e 7@ ¢
(A) M= (B) f%6 (C) @A (D) @RIGEIZE
Rocks formed by alteration of original structure due to heat and excessive pressure is called
(A) Sedimentary (B) Metamorphic (C) Igneous (D) None of these
GRSRE BI%t '@ BIL*R LI TeT FRIIR ARTSTR 07 fde e = l
(A) oo (B) Fiisfde (C) ST (D) @1a5E 71
Which one of the following is a Plutonic rock?
(A) Gypsum (B) Gneiss (C) Basalt (D) Granite
ffiRe @t aalb sreifee R ¢ :
(A) G (B) (C) TG ELEY

wave is first recorded on the seismograph.
(A) P-wave -(B) S-wave (C) L-wave (D) Rayleigh wave
o Ppiere w0 we Tt =
(A) - (B) @71-92% (C) &-o3 (D) a1 o

The scale of measurement for measuring the earthquake is called

(A) Mercalli Scale  (B) Richter Scale (C) Number Scale (D) None of these
giaCia Sigel ARWICR FE = |

(A) W = (B) fa<br = (C) 794 C&eT (D) 2 71

Which one of the following pairs is not correctly matched?

(A) Canyon-River (B) Zeugen-Wind (C) Inselberg-Glacier (D) Moraine-Glacier
fAwea v (el How ©ict Gieeri ¢

(A) PfRIe-77) (B) f&@atia-arg (C) FFRIE-fsRE. (D) afREal-Rwaig

The triangular shaped deposits formed by transportation of material by water is called

(A) Tors (B) Alluvial Fan (C) Moraine (D) Drumlin
TERIRS #inid ey Tof fageiel® Aweugs Bt 30 |
(A) 5= (B) #1712l (C) AR (D) wisfere
Select the renewable exhaustible resource from below
(A) Coal (B) Petroleum (C) Kerosene (D) Biomass
(A) FF= (B) CACEifers (C) @I (D) &=
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16.  In an ecosystem, energy flow is always :
(A) Unidirectional  (B) Bi-directional (C) Multidirectional (D) Downwards

a5 gy «fea eqre 7w |

(A) «F93 (B) gt (©) 3= (D) Fregd
17.  What type of food chain is given below?

Dead Animals — Blowfly Maggot — Maggot —Frogs —Snakes

(A) Detrital Food chain (B) Decomposer Food chain
(C) Predator Food chain (D) Grazing Food chain
b meq AR @I G0 ?

(WERCIE — TR Yoo — 66 — e — ot
(A) TOERIR ATEE (B) 25aaat AwpEE  (C) B amps (D) bR ARl

18.  Porosity is maximum in type of soil.
(A) Sandy (B) Clayey (C) Loamy (D) Regolith
Hfozwre! i IS wfHre )
(A) @@ (B) «tbe (C) (wl-i=t (D) @eaifer
19.  Which rock is most abundant in Karst region?
(A) Basalt (B) Limestone (C) Sandstone (D) Quartzite
FPY weee! (@ Tl e [ ¢
(A) TS (B) R (C) @212 (D) FRIGEIS
20.  Increased permeability develops horizon of the soil.
(A)O (B)B ©A (D)D
A7l AT Mfoa A SITET MG 60
(A)e ®) R (©)« D) &
21.  Out of the following, biodiversity is maximum in region of India.

(A) Ganga Plain (B) Malwa Plateau  (C) Western Ghats (D) Godavari Valley
e seeelie T SR el GREbaye s 26 1
(A) N g (B) MR Wergf (C) #FowalG *{ewE (D) (iwiRdl Sl

22.  ‘Shield’ isa type of landform.
: (A) Mountain (B) Plateau (C) Plain (D) None of these
‘fore” 2z GO iR
(A) 7S (B) Sergf (C) gl (D) 12 7
23.  Out of the following, which is extinct in India? ;
(A) Asiatic Cheetah (B) Asiatic Lion
(C) One-horned Rhinocerous (D) Gangetic Dolphin
forsferfs @ Siars [ae ¢

(A) afmfs Bot  (B) «fmifos Frg (C) G ST (D) Ao BES

24.  Arid Cycle of Erosion is associated with

(A) Davis (B) Hack (C) Penck (D) King

NER i 7 AY ©ivs)

(A) Cufe™ (B) & (C) & (D) &=
25.  Convection current is found in ___ zone of the earth’s interior.

(A) Core (B) Asthenosphere  (C) Mantle (D) Crust

C-ST e AAfRbeT (IS (7 AR :

(A) (FERGT (B) SUPTPFAN  (C) SFNGe (D) &%
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What type of landform is a U-shaped valley?

(A) Aeolian (B) Fluvial (C) Glacial (D) None of these
U-Sifos Boforl (1 4304 gfiret ¢

(A) AT (B) FAefoe (C) femrrzzifre (D) 1B 7
Deepest layer of the earth is called

(A) Mantle (B) Core (C) Crust (D) Lithosphere
w§fRi ol 1S Wb A ;

(A) ST (B) (3% ©) T-T= (D) Pemres
Select the permeable rock from below

(A) Limestone (B) Marble (C) Slate (D) None of these
Teoa (e e el five w9

(A) gAIsiIRE (B) Sde (C) @6 (D) 162 7
Which of the following event occurring on the earth’s surface affects the rate of infiltration?
(A) Evaporation (B) Porosity (C) Permeability (D) Evapotranspiration
-7jed 2 (I TN SRR FACE IR A

(A) AT (B) Hfvzmel (C) &itaral (D) IPAY &ltgw
What is the percentage of fresh water out of the total storage of water in earth?

(A) 2.4% (B) 5% (C) 10% (D) 8%

R (G S SteTa Weay FqSerd Al F© =oR ¢

(A) 2.8 *foi™ (B) ¢ *foR* (C) >0 *eiR™ (D) b *roR™
Which Biome has the maximum biodiversity?

(A) Equatorial Rain forest (B) Taiga

(C) Savannah (D) Tundra

I AT SAfoa 7 2

(A) FeFim 3R o=y (B) 0ot (C) et (D) T&

What is trophic level in an ecosystem?

(A) Topsoil (B) Level of Water  (C) Part of Food chain (D) Kind of Habitat
AEecE 7{fEwa ¢

(A) Wifoa Tofels (B) ST

(C) AvaiteTd @b i« (D) €% LECa TR

What percentage of energy transfer from one trophic level to the next?

(A) 25% (B) 10% (C) 15% (D) None of these
“fea T Woie @3 AR (0T A ~EwE ~RaRe = ¢

(A) 2% (B) 0% (C) 5¢% (D) @HGE 7
Select the soil found in arid region from below

(A) Laterite (B) Podsol (C) Peat (D) Solan chak
wE oe 2t Siewit Fdisa w

(A) BRI (B) *1wE@ (C) 7o (D) GilETH 5%
Transcurrent fault is associated with .

(A) Convergent Boundary (B) Divergent Boundary

(C) Transform Boundary (D) None of these

TR e ze 1 A TiTs |

(A) ofemd T (B) efom@ A (O) FRerw Aae (D) @iAiE w9
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